
3. (5 points) Packets arrive at a router at a rate of 1000 per second. Average packet size is 1250 bytes. The
router can process incoming data at a rate of 150 Mbps. On average what delay does a packet encounter due
to this router? (That is, on average how long does it take a packet to get out of the router after it has arrived
at the back of the bu↵er queue)? Show your answer in microseconds (1 µs = 10�6 s).

c = 3⇥ 108 m/s (in free space), c = 2⇥ 108 m/s (in media), 1 km = 103 m, 1 ms = 10�3 s, 1 Mb = 106 b
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SNR [dB] = 10 log(SNR), SNR [dB] = 6m� 7.2

F{rect(t/T )} = T sinc(fT ) = T sin(⇡fT )/⇡fT

F{sinc(t/T )} = T rect(fT )


